//Span Model.mg4
#property indicator_chart_window
#property indicator_buffers 5

#property indicator_colorl SandyBrown |€— #propertyap<s 7 sCil
#property indicator_color2 BlueViolet
#property indicator_color3 SandyBrown
#property indicator_color4 BlueViolet
#property indicator_color5 Magenta
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double Span_A_L[];
double Span_B_L[];
double Span_A_HI[];
double Span_B_H[];, [&¢— 4> —45—)\wIJ7—ZE=
double Delay[];
double Change[];
double Standard[];
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extern int Change_Period = 9;

extern int Standard_Period = 26; |€— Z#H=xE5=
extern int Span_B_Period = 52;

int init()

{
IndicatorBuffers(7);
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SetIndexBuffer(0,Span_A_L);
SetIndexBuffer(1,Span_B_L);
SetIndexBuffer(2,Span_A_H);
SetIndexBuffer(3,Span_B_H);
SetIndexBuffer(4,Delay);
SetIndexBuffer(5,Change);
SetIndexBuffer(6,Standard);
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SetIndexLabel(0,"Span A Line");
SetIndexLabel(1,"Span B Line");
SetIndexLabel(2,NULL);
SetIndexLabel(3,NULL);
SetIndexLabel(4,"Delay");
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SetIndexStyle(0,DRAW_LINE,STYLE_SOLID):
SetIndexStyle(1,DRAW_LINE,STYLE_SOLID):
SetIndexStyle(2,DRAW_HISTOGRAM,STYLE. SOLID):
SetIndexStyle(3,DRAW_HISTOGRAM,STYLE_SOLID);
SetIndexStyle(4,DRAW_LINE,STYLE _SOLID):
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SetIndexShift(4,-Standard_Period);
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SetIndexDrawBegin(0,Span_B_Period);
SetIndexDrawBegin(1,Span_B_Period);
SetIndexDrawBegin(2,Span_B_Period);
SetIndexDrawBegin(3,Span_B_Period);
SetIndexDrawBegin(4,Span_B_Period);

return(0); |
+
int start()
{

int limit = Bars - IndicatorCounted();
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for(inti = limit-1;i>=0; i--)

{

Change[i] = (High[iHighest(NULL,0,MODE_HIGH,Change_Period,i)] + Low[iLowest(NULL,0,MODE_LOW,Change_Period,i)]) / 2;
by
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for(i = limit-1;i>=0; i--)
{

Standard[i] = (High[iHighest(NULL,0,MODE_HIGH,Standard_Period,i)] + Low[iLowest(NULL,0,MODE_LOW,Standard_Period,i)]) / 2;
b
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for(i = limit-1; i >=0; i--)
{

Span_A_L[i] = (Changel[i] + Standard[i]) / 2;

Span_B_L[i] = (High[iHighest(NULL,0,MODE_HIGH,Span_B_Period,i)] + Low[iLowest(NULL,0,MODE_LOW,Span_B_Period,i)]) / 2;

Span_A_H[i] = (Changeli] + Standard[i]) / 2;

Span_B_H[i] = (High[iHighest(NULL,0,MODE_HIGH,Span_B_Period,i)] + Low[iLowest(NULL,0,MODE_LOW,Span_B_Period,i)]) / 2;
b
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for(i = limit-1;i>=0; i--)
{
Delay[i] = Close[i];
b

return(0);
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